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Class: ______________  Name: ______________ 

 

[1-4] Complete the sentences. 

 

1. Graffiti is _________ in most places, so he did it in secret. 

2. Fans like watching pro gamers compete because they can learn game _________ 

from them. 

3. These types of measurements were not _________ because everyone’s body 

parts are different sizes. 

4. The campaign uses a new _________ called a Smog Free Tower. 

 

[5-8] Choose the correct meaning of the underlined words. 

5. The sharp spines on their skin protect starfish from predators. 

ⓐ firm ⓑ similar ⓒ pointy 

6. Some simply call to find out what Twitter or Instagram is. 

ⓐ only ⓑ eventually ⓒ extremely 

7. Humans searched for a superior metal to use. 

ⓐ regular ⓑ better ⓒ overall 

8. This is why glucose is called our primary source of energy.  

ⓐ worst ⓑ consistent ⓒ main 
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[9-11] Read and answer the questions.  

 

 

 

 

 

 

 

9. Which sentence does NOT fit in the paragraph? 

ⓐ  ⓑ  ⓒ  

 

10. What is the correct word for the blanks? 

ⓐ tube ⓑ backbone ⓒ tentacle 

 

11. What is true from the paragraph? 

ⓐ Mammals are invertebrates. 

ⓑ Invertebrates have a backbone.  

ⓒ There are more invertebrates than vertebrates. 

 

[12-13] Read and answer the questions. 

 

 

 

 

12. What does the underlined word refer to? 

ⓐ regular steel ⓑ iron ⓒ chromium 

 

13. Which is the best place for the following sentence? 

 

 

ⓐ (A) ⓑ (B) ⓒ (C) 

ⓐ In the animal kingdom, there are two types of animals: vertebrates and 

invertebrates. Vertebrates are animals with a _________, such as mammals, 

birds, and fish. Invertebrates are animals without a _________, such as worms 

and insects. ⓑ They breathe through their skin. ⓒ Surprisingly, invertebrates 

make up about 97% of our animal kingdom. There are many different types. 

Let’s take a look at some! 

(A) Both are iron metal alloys. That means they are both made by combining 

iron with other elements. The key difference is that stainless steel contains a 

metal called chromium. (B) Due to the presence of roughly 11% chromium, 

stainless steel is extremely rust-resistant. (C) 

Stainless steel is similar to regular steel. 
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[14-16] Read and answer the questions.  

 

 

 

 

 

 

 

14. What is the paragraph mainly about? 

ⓐ how to eat healthfully 

ⓑ how pro gamers train 

ⓒ how many hours pro gamers train for 

 

15. What is the correct word for the blanks?  

ⓐ skills ⓑ muscles ⓒ games 

 

16. What is NOT true about pro gamers? 

ⓐ They spend four hours or less playing games each day. 

ⓑ They play video games every day. 

ⓒ They review their old matches. 

 

[17-20] Read and answer the questions.  

 

 

 

 

 

 

 

 

 

 

Playing video games is probably the most important thing pro gamers do 

every day. They spend six or more hours each day playing _________. They 

practice as teams and individually. There are other ways pro gamers improve 

their mental health. When they are not training, pro gamers review videos of 

past matches. This helps them spot weaknesses in their _________ and 

improve their overall skills. Being a pro gamer is hard work! 

The Roman Republic used the Roman calendar with 12 months. But it was 

changed countless times and became inaccurate. ⓐ In 46 BC, Julius Caesar 

made a reform to ____(A)___ the Roman calendar with the Julian calendar. In 

the new calendar, each month was between 28 and 31 days. ⓑ The Gregorian 

calendar skips a leap year three times every 400 years. Also, most importantly, 

a day was ____(B)___ every four years. ⓒ The year with the added day was 

called a leap year. However, it made a year 365.25 days. 
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17. Which sentence does NOT fit in the paragraph? 

ⓐ  ⓑ  ⓒ  

 

18. What is the correct word for each blank? 

      (A)  –  (B) 

ⓐ replace – added 

ⓑ track – added 

ⓒ replace – noticed 

 

19. What can be inferred from the paragraph? 

ⓐ Julius Caesar made the Roman calendar. 

ⓑ There were only two types of calendars in the Roman Republic. 

ⓒ The Roman calendar did not have a leap year. 

 

20. But it was changed countless times and became wrong. 

= But it was changed countless times and became _________. 

 


